log AY/Y)

log (Y/AY)

LABJNDu2-Normhelligkeit L*
L* YHC_L* ﬂC_lOO’

L*Laganpu2=IN(A1n+A2nY)(A2nAcn)  (Yno/100<Y<=Y,o)
L*Laganpu2=IN(A1ntA20X)/(A2iAon) - (X=YTYy)
L*(3,6)=174.L* ,(18)=396L* ,/(90)=616

log[L*/L* ,]=0, m,=0,33

L*,=49,L* ,=396

Anwendungs»
bereich

Xw=5

LABJINDu2

Normfarbwertdifferenz

Yoc=L* w nc=100,
L* L agaNDu2=IN(A 17+ AY)(A2nAon)  (Ynd/L00<Y<=Y,,0)
L* L aBinDu2=IN(A 10+ A2)/ (A2 Aon)  (X=YTYy)
dY=Aon(A1n*tA2nY)=Aon(A1ntAzX)  X=Y1Y,
Aonp65=15, Agn a=1.0, sihe CIE 230:2019

p

A-nwe;drm-gs-
bereich

LABJINDu2
. Normfarbwertemfindlichkeit
SHEYY Yoc=L*w - nc=100,

L*Laganpu2=IN(A1n+A2nY)(A2rAcn) - (Yao/100<Y<=Yyo)
L* Laganpuz=IN(A1ntA20)/(A2iAon)  (X=Y/Yy)
dY/Y=Aon(A1ntAY)IY=Agn(A1+A XY

~
N

|og(dY/Y)= 2 OZ m=-0,To> < _ - A-nwendun-gs-
= = === ==%=3_ - hereich
+ =396 dY,=0,15 d¥,/Y,~0,0084

1
1%=1
XxN=0,2 Xw=5

LABJINDu2

- Normfarbwertkontrast
G Yoc=L*w - nc=100,

L*LaganDu2=IN(A1n+A2nY)(A2rAcn) - (Yao/100<Y<=Yyo)
L*Laganpu2=IN(A1ntA20)/(A20A0n) - (X=Y7Yy)
YIAY=Y/[A on(A1ntA2n V)X Y/ [Aon(A1n+AuX)]

4=396 dY,=0.15 Y, /dY,=117_ _ _ _
Iog(YldY)=2,07, m=0,13- =~ "~

3
1
1
1

A-nwendun-gs-
. bereich
%=l

1Xw=5

LABJINDu? relative Normhelligkeit L*/L* ,
L*/L* Ync_L w nc‘loov
u

L* LaganDu2=IN(A1n+A2nY)/(A2nAon)  (Yae/100<Y<=Y,c)
L1 AganDu2=IN(A 10t A2 ) (A2iAon) - (X=YTY)
L* (3,6)=174L* ,(18)=396 L* (90)=616

loglLr/Lx,

L* —49 L* —396
Anwendungsv
bereich

=1

Iog(AY/AY )

T 5n=0.2  xw=5

LABJNDuU2 relative
Normfarbwertdifferenz

Yoc=L*w - -nc=100,

L* Laganpu2=IN(A1n+A2nY)/(A2nAon)  (Yn/100<Y<=Y,o)
L* | AganDu2=IN(A 10t A2 ) (A2iAon) - (X=YTYy)

dY/dY =(A1ntAX)(A1+ALY)

AY/AY,

AnwendTJngs-
1 bereich

=1

log [AYY) I (AYIY),]

Xw=5

LABJNDuZ relative

Normfarbwertempfindlichkeit
S/Su=@YMIAYN), ot ™S EIE0.

L* Laganpu2=IN(A1n+A2nY)/(A2nAon)  (Yn/100<Y<=Y;c)
L ABanDu2=IN(A 10t A20) (A2iAon) - (X=YTYy)
AYYY@YIYV)=[A 1+ A2X) Xl (A 1+ Agy)

log[(dY/YY(dY/Y),]=0, m/=-0,13
* =396 dY,=0,15 dY,/Y,=0,0084]

Iy =1

A-ruﬂe;drjn-gs-
bereich

log [(Y/AY) I (YAY),]

XN=0,2 Xw=5

LABJINDuZ relativer
Normfarbwertkontrast

CICU=(YIAVYI(YIAY), NomLr e ST00,

L* Laganpu2=IN(A1n+A2nY)/(A2nAon)  (Yac/100<Y<=Y,o)
L* | aBanDu2=IN(A 10t A20) (A2iAon) - (X=YTYy)
(YIAYY(Y/IAY)=[XI(A A X)(A 17+A L)

log[(Y/dY)(Y/dY),]=0, m,=0,13

* =396 dY,=0,15 Y,/d¥% a7~ -
v Anwendungs-
bereich

XN=0,2 Xw=5




